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B.A./B.Sc. (General) 4™ Semester
(2054)
ECONOMICS (In all Mediums)

Paper : Quantitative Methods

Time Allowed : Three Hours] [Maximum Marks : 90
Note :— (1) Attempt FIVE questions in all.
(2) Question No. 1 (Unit-I) is compulsory.
(3) Select ONE question from each unit.
(4) Use of simple calculator is allowed.
UNIT-I
1. Attempt any NINE :
(a) Singleton Set.
(b) IfA={3,4,6} and B = {4, 6, 8}, find B - A.
: 1
(¢) Find j—i If e o
(d) Define ‘Square Matrix’.
(¢) Define Median.
() What is Open End Class Interval ?
(g) Give two properties of Correlation.
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(h) I'ind Mcan :
N 1416 ]20(22]24
l*‘ i ;l h } 2

(1) Give two uses of Index Number,
W) Define *Interpolation”.

(K)  What is Cycelical Trend ?

(1) Define *Regression’. 249=18
UNIT-II
() vy=(Gx+3x+2)(2x+5), find ¥
dx
2}23 d
= Y = 3 }? —
(11) Ax + 3° find o 9+0=18
OR
Find the maximum and minimum value of the function :
3’,:}(:!__:.;},{24_5 18
UNIT-III

Compute the Inverse, it it exists of a matrix

2 0 )
A=l1 1 ]
| 1 2 -1
If Inverse €xists, then Prove that AA'=1L 18
OR
2 0.



C.

data given below -

alculate the Arithmetic Mean and Standard Deviation from the

X
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10-15

15-20

20-25

25-30

30-385
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29

29

[
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UNIT-1V

18

The following table shows marks obtained by students

in Economics and History. Calculate Rank Correlation

Coefficient :
Marks (Economics) Marks (History)
10 10
12 13
18 18
13 15
15 14
19 20
20 11
22 25
11 27
16 23 18
OR
Find the two Regression Lines :
X [ 12090 |80 [ 100|110
Y [ 40 [36[40] 45 | 40 18
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UNIT-V

5. Calculate Fisher’s Ideal Index Number from the following data and
show that it satisfics "Tests of Consistency

Item | h“’“‘ Year Current Year
Price -_-'_-(jl_lzl_nl.ily Price Quantity
A s | 10 10 12
B 10 12 12 8
C 5 8 5 10
D 4 14 3 20
E 20 5 25 6
18
OR
Fit a straight line trend to the following data and also compute Trend
Values :
Year Production (in 000 units)
1970 12
1971 13
1972 13
1973 16
1974 19
1975 23
1976 21
1977 23 18
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X dx

(d) TEmr Afcgw 1 gRkaftg #3
(¢) Witgwr &1 gRwfm &3

() N4 U3 FaE Zexad o8 7
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X 1416|2022 |24
F|1 |4 |63
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(k) =0 waf @@ g o7
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2x9=18
gRE—]]
2.0 y=(G+3x+2)@x+5), @ Y & 5w qm,
dx
2x’
(I.i) y = 4x T 3 » ?ﬁ- El—)i Cal qdr E“”Q' 9+9=18

dx
AAGr

AT FH AR SR e A W F%

y=x'-3x2+5 18
afe—111
3. HohH W TMUAT R, Ik 95 UH AW @ G o
(2 0 1]
A=|1 1 1
1 2 =1
gfe ogepd AgE 8, o g wWOF ACA =1 18
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Marks (Economics) Marks (History)
10 10
12 13
18 18
L5 15
15 14
19 20
20 11
22 25
] 27
6 s 18
- AAT
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V|40 |36 |40 | 45
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Item Base Year Current Year
Price Quantity Price Quantity
A g 10 10 12|

B 10 12 12 8

C 5 8 5 10

D 4 14 3 20
| E 20 5 25 6 |
18

S G

ﬁw%%ﬁﬁ@ﬁzﬁ%m%wﬁﬁﬁaﬁaﬁtw

Year Production (in 000 units)

1970 12

1971 13

1972 13

1973 16

1974 19

1975 23

1976 21

1977 23 18
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(k) dagest ¥ =i

¢ “feeREs’ & ufesfis &J 279=18
gfse-II
2. (@) y=(x+3x+2)(@2x+ 5). dy ISER
] dx
2x dv
o g ) - _
(11} ) 4x + 3° a; ISER 0+9=18
|
Sams © @u 3 Ju nT fala3n He &9 ¢
y=x'-3x*+35 18
gfse-IlI
3. feG@3an T a=s a9, Aa9 feg ¥y Hfgawm = Haw T ¢
(2 0 1]
A=|1 1 ]
12 -1
Tag fe@3gn Fge J, 3 Ao a9 fa A-AT =1 18
ey
ot fiF3 Fov T wiaafs3 T HaHs ni3 fimrdt fegorg €1 &S
I3
X [5-10]10-15[15-20]20-25[25-30|30-35
F| 2 9 29 29 | 1 6
18
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- Marks (Economics) Marks (History) |
10 | 10
12 15
18 18

| 13 15

: 13 14
19 20
20 11
22 25
11 27
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